Multiply by Positive Powers of Ten (D)

Find each product.

53 x10 = 32 x10 =
38 x 10 = 94 x 100 =
3% 1,000 = 3x 1,000 =
95 x 1,000 = 95 x 100 =
99 x 1,000 = 21 x100 =
38 x 10 = 27 x 1,000 =
70 X 100 = 34 x 10 =
56 X 10 = 55 x 100 =
65 %X 1,000 = 86 X 1,000 =
31 x 1,000 = 14 x 100 =
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Multiply by Positive Powers of Ten (D) Answers

Find each product.

53 x 10 =530 32 x 10 =320

38 x 10 =380 94 x 100 =9,400

3 x1,000=3,000 3 x 1,000 = 3,000
95 x 1,000 =95,000 95 x 100 =9,500
99 X 1,000 =99,000 21 x100=2,100
38 x 10 =380 27 x 1,000 = 27,000
70 x 100 =7,000 34 x 10 =340

56 X 10 =560 55 x 100 = 5,500
65 x 1,000 = 65,000 86 X 1,000 = 86,000
31 x1,000=231,000 14 x 100 = 1,400
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